Phenotype Data Analysis Plots
PhenoData day range = 10 - 50
Analysis cutoff day = 50
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LfA: avg vs. d at each age group
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POAE LfA: D_Q50 LfA
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POAE LfA: D_Est_LfA
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NdD: avg vs. d at each age group
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NdD: model est vs obsOv@Q50
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dStH: avg vs. d
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dStH: obsAvg vs obsOv@Q50

357 — @50
— est

307 o avg /
2.5 ®
2.0 ‘%\?’4’//\ )
1.5 ;/
1.0

’

15 20 25 30 35 40 45 50




dStH: D_5d_StH

50 A
40 A
30 A
20 A

10 -

-10 A

—4— pcrDelta_avg

25

50




dStH: D_15d_StH

80 A

—4— pcrDelta_avg

15 20 25 30 35 40 45 50



dStH: D_Q50_StH

——

pcrDelta_avg

15

20

25

30

35

40

45

50



dStH: D_Est_StH
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FrV: FrO1 vs FrO5 at each truss

organiD=T01 organiD=T02 organiD=T03
20_ 065‘
—— FrOlavg —— Fr0lavg FrO5avg
FrO5avg FrO5avg 0.60 4 —— Fr0lavg
0.55 A
0.50 A
0.45 -
16 18 20 22 24 16 18 20 22 24 14.25 14.50 14.75 15.00 15.25 15.50 15.75

age age age



FrV trend at each age
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FrV: model Est vs obsFrV at Q90
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POAE FrV: D_Ts_FrV
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